AVERAGE METER CONNECTION EXPENSE COST JUSTIFICATION

Name	of Utility	Meade	e County V	√ater l	District			
The fo	ollowing is an ite	mization of exp	penses for pr	ovidinç	g a mete	ered ser	vice o	connection.
A.	Meter Size							
	5/8-Inch √	3/4-Inch	1-Inch	1 1/	2 -Inch		2-Incl	h 🗌
	Other (specify)							
В.	Materials Expe	ense_	Unit <u>Quantit</u> y	<u>, C</u>	<u>Cost</u>	To <u>Co</u>		
1.	Water Meter		1	_	194.89	_19	4.89	
2.	Meter Yoke		1		268.21	_26	8.21	
3.	Corporation Sto	ор	1	_	36.52	_3	6.52	
4.	Meter Box and	Тор	1	_	108.60	_10	8.60	
5.	Miscellaneous	Fittings	2	_	2.57		5.14	
6.	Other (Itemize)							
	6" x 3/4" Saddle			1	_	53.97	_	53.97
	3/4" Pressure Red	ducing Valve and	Adap _	1	_	60.59	_	60.59
					_		_	0.00
	TOTAL MATER		SE				\$	727.92 <u></u>

C. <u>Service Pipe Expense</u>

	Гуре of Service Pipe <u>CTS Polybutylene</u>		Size of Service Pipe 3/4		
		Unit <u>Quantity</u>	<u>Cost</u>	Total <u>Cost</u>	
1.	Short Side Service	25.00	0.30	7.50	
2.	Long Side Service	50.00	0.30	15.00	
	AVERAGE SERVICE PIPE EXPI (add total cost and divide l			\$ <u>11.25</u>	
D.	Installation Labor Expense				
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>	
1.	Short Side Service	2.00	80.52	161.04	
2.	Long Side Service	4.00	80.52	322.08	
	AVERAGE INSTALLATION LABOR EXPENSE \$241.5 (add total cost and divide by 2)				
E.	Installation Equipment Expens	<u>e</u>			
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>	
1.	Short Side Service	2.00	50.00	100.00	
2.	Long Side Service	4.00	50.00	200.00	
	AVERAGE INSTALLATION EQUIPMENT EXPENSE \$_150 (add total cost and divide by 2)				

F.	Installation Miscellaneous Expense				
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>	
1.	Inspection			0.00	
2.	Site Clean-Up			0.00	
3.	Other				
				0.00	
				0.00	
				0.00	
	AVERAGE INSTALLATION MISO (add total cost)	CELLANEOU	S EXPENSE	\$0.00_	
G.	Overhead Expense				
	Installation expense (\$	739.17) time	es .		
	overhead rate (<u>1.0</u>	<u>00</u> %)		\$ 7.39	
H.	Administrative Expense				
	1. Office expense for establish	shing a new a	ccount		
	and billing record.			\$ <u>12.25</u>	
I.	Total Expenses				
	Materials Expense			\$ <u>727.92</u>	
	Service Pipe Expense			11.25	
	Installation Labor Expense			241.56	
	Installation Equipment Expense			<u>150.00</u>	
	Installation Miscellaneous Expen	se		0.00	
	Overhead Expense			7.39	
	Administrative Expense			12.25	
TOTA	AL CONNECTION EXPENSE			\$ 1,150.3	
	USE THI	S AMOUNT		\$ 950.00	
	The District does not wish to inc	crosso the tar	fee at this tir	<u></u>	



Bid Proposal for 5/8x3/4" meter quote

MEADE COUNTY WATER DISTRICT

Bid Date: 09/05/2019 **Core & Main** 1054394

Core & Main

13106 Middletown Ind Blvd Louisville, KY 40223

Phone: 502-253-0002

Fax: 502-253-0017

Seq#	Qty	Description	Units	Price	Ext Price
10	1 M25 5/8X3/4 BRZ METER GAL CIB W/ORION ME ENDPOINT		EA	194.89	194.89
				Sub Total	194.89
				Tax Total	0.00 194.89

Branch Terms:

UNLESS OTHERWISE SPECIFIED HEREIN, PRICES QUOTED ARE VALID IF ACCEPTED BY CUSTOMER AND PRODUCTS ARE RELEASED BY CUSTOMER FOR MANUFACTURE WITHIN THIRTY (30) CALENDAR DAYS FROM THE DATE OF THIS QUOTATION. CORE & MAIN LP RESERVES THE RIGHT TO INCREASE PRICES UPON THIRTY (30) CALENDAR DAYS' NOTICE TO ADDRESS FACTORS, INCLUDING BUT NOT LIMITED TO, GOVERNMENT REGULATIONS, TARIFFS, TRANSPORTATION, FUEL AND RAW MATERIAL COSTS. DELIVERY WILL COMMENCE BASED UPON MANUFACTURER LEAD TIMES. ANY MATERIAL DELIVERIES DELAYED BEYOND MANUFACTURER LEAD TIMES MAY BE SUBJECT TO PRICE INCREASES AND/OR APPLICABLE STORAGE FEES. THIS BID PROPOSAL IS CONTINGENT UPON BUYER'S ACCEPTANCE OF SELLER'S TERMS AND CONDITIONS OF SALE, AS MODIFIED FROM TIME TO TIME, WHICH CAN BE FOUND AT: https://coreandmain.com/TandC/



a MORSCO brand

**Pricing for some of the products included in this quote may be impacted by Section 301 List 3: the proposed China tariff. In the event that the tariff is implemented, we will be forced to pass it on to the market. The actual price of these items may increase up to the rate of the tariff that is imposed. **

CUSTOMER NO	QUOTING BRANCH	QUOTE NO	QUOTE DATE	PAGE	
216698	FORTILINE HARTFORD	5887803	9/05/19	1	

CUSTOMER

MEADE CO WATER DISTRICT 1003 ARMORY PLACE Brandenburg, KY 40108

PROJECT INFORMATION

44-MEADE METER SET

LINE	QTY	UOM	DESCRIPTION	UNIT PRICE	TOTAL PRICE
10	1	EA	5/8X3/4X7 TAND MTR STR GJCXGJC NO LEAD TVBHH72-7W-44-33-G-NL	268.2100	268.21
30	1	EA	RA2-NL INCLUDED 3/4 FIPUXFIP PRS RED VLV NR3XL	60.5900	60.59
40	1	EA	SEALED CAGE W/SS SCREW NO LEAD 18"X24" WHITE METER BOX CORR F/ROUTE 4 BR44	31.0000	31.00
50 60	1	EA EA	X32-T TYPE CI RING & LID W/AMR 3/4" CORP STOP CCXGJC NO LEAD F1000-3-G-NL	77.6000 36.5200	77.60 36.52
70 80	1	EA EA	3/4" SS CTS INSERT I-51 6X3/4 CC S70 SDL F/IPS PVC	2.5700 53.9700	2.57 53.97
90	100	FT	S70-603 FORD 3/4"X100' CTS BLUE PE 250PSI TUBING TUBING \$.30/FT 3/4 CTS	.3000	30.00
				Subtotal: Tax:	\$560.46 .00
		A. T. C.	5		